ÏÏÏ Part II after doing questions 4,5,6  (second insertion box of part II)

1. Trick is to know that to have one constructor call another just need this(parameters)

ÏÏ«Ï ----jGRASP exec: java Driver_Q1
ÏÏ§Ï
ÏÏ§ÏAge 12: 
ÏÏ§Ï Mike:  5 feet5 inches 
ÏÏ§Ï Bill:  5 feet5 inches 
ÏÏ§Ï == SAME ==
ÏÏ§Ï
ÏÏ§Ï
ÏÏ§ÏAge 16: 
ÏÏ§Ï Mike:  5 feet5 inches 
ÏÏ§Ï Bill:  5 feet5 inches 
ÏÏ§Ï == SAME ==
ÏÏ§Ï
ÏÏ§Ï
ÏÏ§ÏAge 20: 
ÏÏ§Ï Mike:  5 feet5 inches 
ÏÏ§Ï Bill:  5 feet5 inches 
ÏÏ§Ï == SAME ==
ÏÏ§Ï
ÏÏ§Ï
ÏÏ§ÏAge 70: 
ÏÏ§Ï Mike:  5 feet5 inches 
ÏÏ§Ï Bill:  5 feet5 inches 
ÏÏ§Ï == SAME ==
ÏÏ§Ï
ÏÏ§Ï
ÏÏ§Ï
ÏÏ©Ï ----jGRASP: operation complete.
¼¼ÏÏ
